

1-1-2017

Meromorphic function and its difference operator share two sets with weight k

BINGMAO DENG

DAN LIU

DEGUI YANG

Follow this and additional works at: <https://journals.tubitak.gov.tr/math>



Part of the [Mathematics Commons](#)

Recommended Citation

DENG, BINGMAO; LIU, DAN; and YANG, DEGUI (2017) "Meromorphic function and its difference operator share two sets with weight k ," *Turkish Journal of Mathematics*: Vol. 41: No. 5, Article 7. <https://doi.org/10.3906/mat-1509-73>

Available at: <https://journals.tubitak.gov.tr/math/vol41/iss5/7>

This Article is brought to you for free and open access by TÜBİTAK Academic Journals. It has been accepted for inclusion in Turkish Journal of Mathematics by an authorized editor of TÜBİTAK Academic Journals. For more information, please contact academic.publications@tubitak.gov.tr.

Meromorphic function and its difference operator share two sets with weight k

Bingmao DENG, Dan LIU, Degui YANG*

Institute of Applied Mathematics, South China Agricultural University, Guangzhou, P.R. China

Received: 23.09.2015

Accepted/Published Online: 01.11.2016

Final Version: 28.09.2017

Abstract: In this paper, we utilize Nevanlinna value distribution theory to study the uniqueness problem that a meromorphic function and its difference operator share two sets with weight k . Our results extend the previous results.

Key words: Meromorphic function, unicity, shared sets

1. Introduction and notation

In this paper, the term ‘meromorphic function’ always means meromorphic in the whole complex plane \mathbb{C} . Let $f(z)$ be a nonconstant meromorphic function, and we use the standard notation in Nevanlinna’s theory of meromorphic functions such as $T(r, f)$, $m(r, f)$, $N(r, f)$, and $\bar{N}(r, f)$ (see, e.g., [2,6]). The notation $S(r, f)$ is defined to be any quantity satisfying $S(r, f) = o\{T(r, f)\}$ as $r \rightarrow +\infty$, possibly outside a set of r of finite measure. In addition, we use $N_k(r, 1/f)$ to denote the counting function for the zeros of $f(z)$ with multiplicity m counted m times if $m \leq k$ and $k + 1$ times if $m > k$.

We say that f and g share a CM (IM), if $f(z) - a$ and $g(z) - a$ have the same zeros with the same multiplicities (ignoring multiplicities).

We also need the following definitions in this paper.

Definition 1 [3] Let k be a positive integer or infinity. For $a \in \hat{\mathbb{C}} (= \mathbb{C} \cup \{\infty\})$ we denote by $E_f(a, k)$ the set of all a -points of f , where an a -point of multiplicity m is counted m times if $m \leq k$ and $k + 1$ times if $m > k$.

Definition 2 [3] Let k be a positive integer or infinity. If for $a \in \hat{\mathbb{C}}$, $E_f(a, k) = E_g(a, k)$, we say that f, g share the value a with weight k .

From these two definitions, we note that f, g share a CM or IM if and only if f, g share the value a with weight ∞ or 0 , respectively.

Definition 3 [3] For $S \subset \hat{\mathbb{C}}$, we define $E_f(S, k)$ as $E_f(S, k) = \bigcup_{a \in S} E_f(a, k)$, where k is a positive integer or infinity.

In this paper, we assume that $S_1 = \{1, \omega, \dots, \omega^{n-1}\}$ and $S_2 = \{\infty\}$, where $\omega^n = 1$ and n is a positive integer.

*Correspondence: ldyang@scau.edu.cn

2010 AMS Mathematics Subject Classification: 30D35.

Research supported by the NNSF of China (Grant No. 11371149).

Investigation of the uniqueness of meromorphic functions sharing sets is an important subfield of uniqueness theory. Yi [7], Li and Yang [5], and Yi and Yang [8] proved several results on the uniqueness problems of two meromorphic functions when they share two sets around 1995. In 2006, Lahiri and Banerjee [4] considered these problems with the idea of weighted sharing of sets.

In what follows, c always means a nonzero constant. For a meromorphic function $f(z)$, we denote its shift and difference operator by $f(z+c)$ and $\Delta_c f := f(z+c) - f(z)$, respectively. Recently, many papers mainly deal with some uniqueness questions for a meromorphic function that shares values or common sets with shift or its difference operator. We recall the following two results proved by Zhang [9] and Chen [1].

In 2010, Zhang [9] proved the following results on the relation between $f(z)$ and its shift $f(z+c)$ when they share two sets.

Theorem A *Let $c \in \mathbb{C}$. Suppose that $f(z)$ is a nonconstant meromorphic function with finite order such that $E_{f(z)}(S_j, \infty) = E_{f(z+c)}(S_j, \infty)$, ($j = 1, 2$). If $n \geq 4$, then $f \equiv tf(z+c)$, where $t^n = 1$.*

Recently, Chen [1] considered the relation between $f(z)$ and its operator $\Delta_c f$, and obtained the following result.

Theorem B *Let $c \in \mathbb{C}$. Suppose that $f(z)$ is a nonconstant meromorphic function with finite order such that $E_{f(z)}(S_1, 2) = E_{\Delta_c f}(S_1, 2)$ and $E_{f(z)}(S_2, \infty) = E_{\Delta_c f}(S_2, \infty)$. If $n \geq 7$, then $\Delta_c f \equiv tf(z)$, where $t^n = 1$ and $t \neq -1$.*

From Theorem B, Chen [1] got two corollaries as follows.

Corollary A *Let $c \in \mathbb{C}$. Suppose that $f(z)$ is a nonconstant meromorphic function with finite order such that $E_{f(z)}(S_1, \infty) = E_{\Delta_c f}(S_1, \infty)$ and $E_{f(z)}(S_2, \infty) = E_{\Delta_c f}(S_2, \infty)$. If $n \geq 7$, then $\Delta_c f \equiv tf(z)$, where $t^n = 1$ and $t \neq -1$.*

Corollary B *Let $c \in \mathbb{C}$. Suppose that $f(z)$ is a nonconstant entire function with finite order such that $E_{f(z)}(S_1, \infty) = E_{\Delta_c f}(S_1, \infty)$. If $n \geq 5$, then $\Delta_c f \equiv tf(z)$, where $t^n = 1$ and $t \neq -1$.*

It is natural to ask the following questions about Theorem B:

- (1) Is the condition “ $f(z)$ has finite order” necessary?
- (2) Can the assumption “ $n \geq 7$ ” can be replaced by a weaker one?
- (3) Theorem B just considers the function shares two sets with weight 2, and what will happen if the function shares the set with weight 1, and, in general, what will happen if the function shares the set with weight k , where k is a positive number or infinity.

In this paper we shall investigate the above problems and give an affirmative answer to the question.

Theorem 1 *Let $c \in \mathbb{C}$ and k be a positive number or infinity. Suppose that $f(z)$ is a nonconstant meromorphic function such that $E_{f(z)}(S_1, k) = E_{\Delta_c f}(S_1, k)$ and $E_{f(z)}(S_2, \infty) = E_{\Delta_c f}(S_2, \infty)$. If $n \geq 7$ when $k = 1$ or $n \geq 5$ when $k \geq 2$ then $\Delta_c f \equiv tf(z)$, where $t^n = 1$ and $t \neq -1$.*

From Theorem 1, the following corollary follows directly.

Corollary 1 *Let $c \in \mathbb{C}$ and k be a positive number or infinity. Suppose that $f(z)$ is a nonconstant meromorphic function such that $E_{f(z)}(S_1, \infty) = E_{\Delta_c f}(S_1, \infty)$ and $E_{f(z)}(S_2, \infty) = E_{\Delta_c f}(S_2, \infty)$. If $n \geq 5$, then $\Delta_c f \equiv tf(z)$, where $t^n = 1$ and $t \neq -1$.*

For the entire function, we also get the following result.

Theorem 2 *Let $c \in \mathbb{C}$ and k be a positive number or infinity. Suppose that $f(z)$ is a nonconstant entire function such that $E_{f(z)}(S_1, k) = E_{\Delta_c f}(S_1, k)$. If $n \geq 6$ when $k = 1$ or $n \geq 5$ when $k \geq 2$, then $\Delta_c f \equiv tf(z)$, where $t^n = 1$ and $t \neq -1$.*

2. Preliminary results

For the proof of Theorem 1 and Theorem 2, we need the following results.

Lemma 1 [6] *Let f be a meromorphic functions in \mathbb{C} , and let n be a positive number. Then*

$$T(r, f^n) = nT(r, f) + S(r, f).$$

Lemma 2 [6] *Let f be a meromorphic functions in \mathbb{C} , and let k be a positive number. Then*

$$N(r, \frac{1}{f^{(k)}}) \leq N(r, \frac{1}{f}) + k\bar{N}(r, f).$$

Lemma 3 *Let F and G be two nonconstant meromorphic functions defined in \mathbb{C} , and let k be a positive number or infinity. If $E_F(1, k) = E_G(1, k)$ and $E_F(\infty, \infty) = E_G(\infty, \infty)$, then one of the following cases occurs:*

- (i). $T(r, F) + T(r, G) \leq 2\{\bar{N}(r, F) + N_2(r, 1/F) + \bar{N}(r, G) + N_2(r, 1/G)\} + \left\lceil \frac{1}{k} \right\rceil \{\bar{N}_{(k+1)}(r, \frac{1}{F-1}) + \bar{N}_{(k+1)}(r, \frac{1}{G-1})\} + S(r, F) + S(r, G).$
- (ii). $F \equiv G$ or $FG \equiv 1$.

Proof Let

$$\psi(z) = \frac{F''}{F'} - 2\frac{F'}{F-1} - \frac{G''}{G'} + 2\frac{G'}{G-1}. \tag{2.1}$$

Since $E_F(1, k) = E_G(1, k)$, by a simple computation, we see that if z_0 is a simple zero of $F(z) - 1$ and $G(z) - 1$, then $\psi(z_0) = 0$.

Next we shall consider two cases.

Case 1. $\psi(z) \not\equiv 0$. Then

$$\begin{aligned} N_1(r, \frac{1}{F-1}) = N_1(r, \frac{1}{G-1}) &\leq N(r, \frac{1}{\psi}) \leq T(r, \psi) + O(1) \\ &\leq N(r, \psi) + S(r, F) + S(r, G), \end{aligned} \tag{2.2}$$

where $N_1(r, \frac{1}{F-1})$ is the counting function that only counts simple zeros of $F(z) - 1$ in $\{z : |z| \leq r\}$.

From (2.1), $E_F(1, k) = E_G(1, k)$ and $E_F(\infty, \infty) = E_G(\infty, \infty)$, we can easily verify that possible poles of ψ occur at: (1) multiple zeros of F and G ; (2) the zeros of $F - 1$ and $G - 1$ with multiplicities $\geq k + 1$; (3) the zeros of F' that are not the zeros of $F(F - 1)$; (4) the zeros of G' that are not the zeros of $G(G - 1)$.

Since all poles of ψ are simple, then we get

$$\begin{aligned}
 N(r, \psi) &\leq \bar{N}_{(2)}\left(r, \frac{1}{F}\right) + \bar{N}_{(2)}\left(r, \frac{1}{G}\right) + N_0\left(r, \frac{1}{F'}\right) + N_0\left(r, \frac{1}{G'}\right) \\
 &\quad + \frac{1}{2}\left\{\bar{N}_{(k+1)}\left(r, \frac{1}{F-1}\right) + \bar{N}_{(k+1)}\left(r, \frac{1}{G-1}\right)\right\} + S(r, F) + S(r, G),
 \end{aligned}
 \tag{2.3}$$

where $N_0\left(r, \frac{1}{F'}\right)$ only counts the zeros of F' that are not those of $F(F - 1)$.

On the other hand, by the second fundamental theorem, we have

$$T(r, F) \leq \bar{N}\left(r, \frac{1}{F}\right) + \bar{N}(r, F) + \bar{N}\left(r, \frac{1}{F-1}\right) - N_0\left(r, \frac{1}{F'}\right) + S(r, F),
 \tag{2.4}$$

and

$$T(r, G) \leq \bar{N}\left(r, \frac{1}{G}\right) + \bar{N}(r, G) + \bar{N}\left(r, \frac{1}{G-1}\right) - N_0\left(r, \frac{1}{G'}\right) + S(r, G).
 \tag{2.5}$$

It is easy to show that

$$\bar{N}\left(r, \frac{1}{F-1}\right) + \bar{N}\left(r, \frac{1}{G-1}\right) = N_1\left(r, \frac{1}{F-1}\right) + \frac{1}{2}\left\{N_2\left(r, \frac{1}{F-1}\right) + N_2\left(r, \frac{1}{G-1}\right)\right\}.
 \tag{2.6}$$

Combining (2.4)–(2.6), we obtain

$$\begin{aligned}
 2\{T(r, F) + T(r, G)\} &\leq 2\left\{\bar{N}(r, F) + \bar{N}\left(r, \frac{1}{F}\right) + \bar{N}(r, G) + \bar{N}\left(r, \frac{1}{G}\right)\right\} \\
 &\quad + 2N_1\left(r, \frac{1}{F-1}\right) + N_2\left(r, \frac{1}{F-1}\right) + N_2\left(r, \frac{1}{G-1}\right) \\
 &\quad - 2N_0\left(r, \frac{1}{F'}\right) - 2N_0\left(r, \frac{1}{G'}\right) + S(r, F) + S(r, G).
 \end{aligned}
 \tag{2.7}$$

Then from (2.2), (2.3), and (2.7), we get

$$\begin{aligned}
 2\{T(r, F) + T(r, G)\} &\leq 2\left\{\bar{N}(r, F) + N_2\left(r, \frac{1}{F}\right) + \bar{N}(r, G) + N_2\left(r, \frac{1}{G}\right)\right\} \\
 &\quad + \bar{N}_{(k+1)}\left(r, \frac{1}{F-1}\right) + \bar{N}_{(k+1)}\left(r, \frac{1}{G-1}\right) \\
 &\quad + N_2\left(r, \frac{1}{F-1}\right) + N_2\left(r, \frac{1}{G-1}\right) + S(r, F) + S(r, G).
 \end{aligned}
 \tag{2.8}$$

If $k \geq 2$, then

$$N_2\left(r, \frac{1}{F-1}\right) + \bar{N}_{(k+1)}\left(r, \frac{1}{F-1}\right) \leq N\left(r, \frac{1}{F-1}\right) \leq T(r, F) + O(1).
 \tag{2.9}$$

$$N_2(r, \frac{1}{G-1}) + \bar{N}_{(k+1)}(r, \frac{1}{G-1}) \leq N(r, \frac{1}{G-1}) \leq T(r, G) + O(1). \tag{2.10}$$

Combining (2.8)–(2.10), we get

$$T(r, F) + T(r, G) \leq 2\{\bar{N}(r, F) + N_2(r, \frac{1}{F}) + \bar{N}(r, G) + N_2(r, \frac{1}{G})\} + S(r, F) + S(r, G).$$

If $k = 1$, note that

$$N_2(r, \frac{1}{F-1}) \leq T(r, F) + O(1). \tag{2.11}$$

$$N_2(r, \frac{1}{G-1}) \leq T(r, G) + O(1). \tag{2.12}$$

Combining (2.8), (2.11), and (2.12), we get

$$\begin{aligned} T(r, F) + T(r, G) &\leq 2\{\bar{N}(r, F) + N_2(r, 1/F) + \bar{N}(r, G) + N_2(r, 1/G)\} \\ &\quad + \bar{N}_{(k+1)}(r, \frac{1}{F-1}) + \bar{N}_{(k+1)}(r, \frac{1}{G-1}) + S(r, F) + S(r, G). \end{aligned}$$

Case 2. $\psi(z) \equiv 0$. We deduce from (2.1) that

$$F \equiv \frac{AG + B}{CG + D}, \tag{2.13}$$

where A, B, C, D are finite complex numbers satisfying $AD - BC \neq 0$, and from (2.13) we have $T(r, F) = T(r, G)$

Next we consider three cases.

Case 1.1. $AC \neq 0$. From (2.13), we have $\bar{N}(r, 1/(F - A/C)) = \bar{N}(r, G)$. Then by the second fundamental theorem and $E_F(\infty, \infty) = E_G(\infty, \infty)$, we obtain

$$\begin{aligned} T(r, F) &\leq \bar{N}(r, F) + \bar{N}(r, \frac{1}{F - \frac{A}{C}}) + \bar{N}(r, \frac{1}{F}) + S(r, F) \\ &\leq \bar{N}(r, F) + \bar{N}(r, G) + \bar{N}(r, \frac{1}{F}) + S(r, F), \end{aligned}$$

which reveals (i) of Lemma 3.

Case 1.2. $A \neq 0, C = 0$. Then $F \equiv (AG + B)/D$. We consider two subcases.

Case 1.2.1. $B \neq 0$. Then by the second fundamental theorem,

$$\begin{aligned} T(r, F) &\leq \bar{N}(r, F) + \bar{N}(r, \frac{1}{F - \frac{B}{D}}) + \bar{N}(r, \frac{1}{F}) + S(r, F) \\ &\leq \bar{N}(r, F) + \bar{N}(r, \frac{1}{G}) + \bar{N}(r, \frac{1}{F}) + S(r, F), \end{aligned}$$

which reveals (i) of Lemma 3.

Case 1.2.2. $B = 0$. Then $F \equiv \frac{A}{D}G$. Since $E_F(1, k) = E_G(1, k)$, if $F(z) \neq 1$, then by the second fundamental theorem

$$\begin{aligned} T(r, F) &\leq \bar{N}(r, F) + \bar{N}\left(r, \frac{1}{F-1}\right) + \bar{N}\left(r, \frac{1}{F}\right) + S(r, F) \\ &\leq \bar{N}(r, F) + \bar{N}\left(r, \frac{1}{F}\right) + S(r, F), \end{aligned}$$

which reveals (i) of Lemma 3.

If there exists a point z_0 such that $F(z_0) = G(z_0) = 1$. Thus $\frac{A}{D} = 1$, which yields $F \equiv G$.

Case 1.3. $A = 0, C \neq 0$, Then $F \equiv \frac{B}{CG+D}$. We can similarly prove that $D = 0, \frac{B}{C} = 1$, and thus $FG \equiv 1$.

By the above discussion, Case (i) or (ii) must occur. This completes the proof of Lemma 3. □

3. Proof of Theorem 1 and Theorem 2

Since the proofs of Theorem 1 and Theorem 2 are similar, we only prove Theorem 1.

Denote $g = \Delta_c f$. By the condition that $E_{f(z)}(S_1, k) = E_{\Delta_c f}(S_1, k)$, we see that f^n and g^n share 1 with weight k , that is $E_{f^n}(1, k) = E_{g^n}(1, k)$. Since $E_{f(z)}(\infty, \infty) = E_{\Delta_c f}(\infty, \infty)$, we also have $E_{f^n}(\infty, \infty) = E_{g^n}(\infty, \infty)$.

We suppose that

$$\begin{aligned} T(r, f^n) + T(r, g^n) &\leq 2\{\bar{N}(r, f) + 2N(r, 1/f) + \bar{N}(r, g) + 2N(r, 1/g)\} \\ &\quad + \left[\frac{1}{k}\right] \left\{ \bar{N}_{(k+1)}\left(r, \frac{1}{f^n-1}\right) + \bar{N}_{(k+1)}\left(r, \frac{1}{g^n-1}\right) \right\} + S(r). \end{aligned} \tag{3.1}$$

Set

$$\phi = \frac{(f^n)'}{f^n(f^n-1)} - \frac{(g^n)'}{g^n(g^n-1)}. \tag{3.2}$$

If $\phi \neq 0$. Let z_0 be a pole of f ; then z_0 is a pole of g , and so z_0 is a zero of ϕ with multiplicity at least $n-1$, and so we get

$$\bar{N}(r, f) = \bar{N}(r, g) \leq \frac{1}{n-1}N\left(r, \frac{1}{\phi}\right) \leq \frac{1}{n-1}N(r, \phi) + S(r). \tag{3.3}$$

where $S(r) = S(r, f) + S(r, g)$

From (3.2), $E_{f^n}(1, k) = E_{g^n}(1, k)$ and $E_f(\infty, \infty) = E_g(\infty, \infty)$, we can easily verify that possible poles of ϕ occur at: (1) zeros of f and g ; (2) the zeros of $f^n - 1$ and $g^n - 1$ with multiplicities $\geq k + 1$. Thus we have

$$N(r, \phi) \leq \bar{N}\left(r, \frac{1}{f}\right) + \bar{N}\left(r, \frac{1}{g}\right) + \frac{1}{2}\bar{N}_{(k+1)}\left(r, \frac{1}{f^n-1}\right) + \frac{1}{2}\bar{N}_{(k+1)}\left(r, \frac{1}{g^n-1}\right) + S(r).$$

Noticing that

$$\overline{N}_{(k+1)}\left(r, \frac{1}{f^{n-1}}\right) \leq \frac{1}{k}N\left(r, \frac{1}{f'}\right), \quad \overline{N}_{(k+1)}\left(r, \frac{1}{g^{n-1}}\right) \leq \frac{1}{k}N\left(r, \frac{1}{g'}\right).$$

With Lemma 2, it is easy to obtain

$$\begin{aligned} N(r, \phi) &\leq \overline{N}\left(r, \frac{1}{f}\right) + \overline{N}\left(r, \frac{1}{g}\right) + \frac{1}{2k}N\left(r, \frac{1}{f'}\right) + \frac{1}{2k}N\left(r, \frac{1}{g'}\right) + S(r) \\ &\leq \overline{N}\left(r, \frac{1}{f}\right) + \overline{N}\left(r, \frac{1}{g}\right) + \frac{1}{2k}\left(N\left(r, \frac{1}{f}\right) + \overline{N}(r, f)\right) + \frac{1}{2k}\left(N\left(r, \frac{1}{g}\right) + \overline{N}(r, g)\right) + S(r). \end{aligned} \tag{3.4}$$

From (3.3) and (3.4), we get

$$\overline{N}(r, f) = \overline{N}(r, g) \leq \frac{k}{(n-1)k-1} \left\{ \overline{N}\left(r, \frac{1}{f}\right) + \overline{N}\left(r, \frac{1}{g}\right) + \frac{1}{2k}N\left(r, \frac{1}{f}\right) + \frac{1}{2k}N\left(r, \frac{1}{g}\right) \right\} + S(r). \tag{3.5}$$

On the other hand, from (3.1) and Lemma 1, we have

$$\begin{aligned} nT(r, f) + nT(r, g) &\leq 2\{\overline{N}(r, f) + 2N(r, 1/f) + \overline{N}(r, g) + 2N(r, 1/g)\} \\ &\quad + \left[\frac{1}{k}\right] \left\{ \frac{1}{k}\left(N\left(r, \frac{1}{f}\right) + \overline{N}(r, f)\right) + \frac{1}{k}\left(N\left(r, \frac{1}{g}\right) + \overline{N}(r, g)\right) \right\} + S(r). \end{aligned} \tag{3.6}$$

When $k = 1, n \geq 7$, from (3.6), we get

$$nT(r, f) + nT(r, g) \leq 5N\left(r, \frac{1}{f}\right) + 3\overline{N}(r, f) + 5N\left(r, \frac{1}{g}\right) + 3\overline{N}(r, g) + S(r). \tag{3.7}$$

By (3.5) and (3.7), we obtain

$$\begin{aligned} (n-5)\{T(r, f) + T(r, g)\} &\leq \frac{9}{n-2} \left\{ N\left(r, \frac{1}{f}\right) + N\left(r, \frac{1}{g}\right) \right\} + S(r) \\ &\leq \frac{9}{n-2} \{T(r, f) + T(r, g)\} + S(r), \end{aligned}$$

a contradiction.

When $k \geq 2, n \geq 5$, from (3.6), we get

$$nT(r, f) + nT(r, g) \leq 4 \left\{ N\left(r, \frac{1}{f}\right) + N\left(r, \frac{1}{f}\right) \right\} + 2 \{ \overline{N}(r, f) + \overline{N}(r, g) \} + S(r). \tag{3.8}$$

By (3.5) and (3.8), we obtain

$$\begin{aligned} (n-4)\{T(r, f) + T(r, g)\} &\leq \frac{2(k+1)}{(n-1)k-1} \left\{ N\left(r, \frac{1}{f}\right) + N\left(r, \frac{1}{g}\right) \right\} + S(r) \\ &\leq \frac{2(k+1)}{(n-1)k-1} \{T(r, f) + T(r, g)\} + S(r). \end{aligned}$$

Noticing that $k \geq 2, n \geq 5$, a contradiction.

Therefore, by Lemma 3, we get either $f^n \equiv g^n$ or $f^n g^n \equiv 1$.

If $\phi \equiv 0$. It follows from (3.2) that

$$f^n = \frac{Ag^n + B}{Cg^n + D}, \tag{3.9}$$

where A, B, C, D are finite complex numbers satisfying $AD - BC \neq 0$, and from (3.9) we have $T(r, f) = T(r, g)$

Next we consider three cases.

Case 1. $AC \neq 0$. From (3.9) and $E_{f^n}(\infty, \infty) = E_{g^n}(\infty, \infty)$, we have $\bar{N}(r, 1/(f^n - A/C)) = \bar{N}(r, g^n) = \bar{N}(r, g) = \bar{N}(r, f)$. Then by the second fundamental theorem, we obtain

$$\begin{aligned} nT(r, f) &\leq \bar{N}(r, f^n) + \bar{N}\left(r, \frac{1}{f^n - \frac{A}{C}}\right) + \bar{N}\left(r, \frac{1}{f^n}\right) + S(r, f) \\ &\leq \bar{N}(r, f) + \bar{N}(r, f) + \bar{N}\left(r, \frac{1}{f}\right) + S(r, f), \end{aligned}$$

which contradicts $n \geq 5$.

Case 2. $A \neq 0, C = 0$. Then $f^n \equiv (Ag^n + B)/D$. We consider two subcases.

Case 2.1. $B \neq 0$. Then by the second fundamental theorem,

$$\begin{aligned} nT(r, f) &\leq \bar{N}(r, f^n) + \bar{N}\left(r, \frac{1}{f^n - \frac{B}{D}}\right) + \bar{N}\left(r, \frac{1}{f^n}\right) + S(r, f) \\ &\leq \bar{N}(r, f) + \bar{N}\left(r, \frac{1}{g}\right) + \bar{N}\left(r, \frac{1}{g}\right) + S(r, g), \end{aligned}$$

which contradicts $n \geq 5$.

Case 2.2. $B = 0$. Then $f^n \equiv \frac{A}{D}g^n$. Since $E_{f^n}(1, k) = E_{g^n}(1, k)$, by the second fundamental theorem that there must exist a point z_0 such that $f^n(z_0) = g^n(z_0) = 1$. Thus $\frac{A}{D} = 1$, which yields $f^n \equiv g^n$.

Case 3. $A = 0, C \neq 0$. Then $f^n \equiv \frac{B}{Cg^n + D}$. We can similarly prove that $D = 0, \frac{B}{C} = 1$, and thus $f^n g^n \equiv 1$.

As discussed above, we get if $n \geq 7$ when $k = 1$; $n \geq 5$ when $k \geq 2$; then $f^n \equiv g^n$ or $f^n g^n \equiv 1$. That is $f^n \equiv (\Delta_c f)^n$ or $f^n (\Delta_c f)^n \equiv 1$

If $f^n (\Delta_c f)^n \equiv 1$. That is

$$f^n(z)[f(z+c) - f(z)]^n \equiv 1. \tag{3.10}$$

From (3.10) and $E_{f(z)}(\infty, \infty) = E_{\Delta_c f}(\infty, \infty)$, we obtain $f(z) \neq 0$ and $f(z) \neq \infty$, and so $f(z) = e^{h(z)}$, where $h(z)$ is a nonconstant entire function.

By (3.10), we get

$$f(z)[f(z+c) - f(z)] \equiv t, \tag{3.11}$$

where $t^n = 1$.

From (3.11) and $f(z) = e^{h(z)}$, we obtain

$$e^{h(z)}[e^{h(z+c)} - e^{h(z)}] \equiv t.$$

That is

$$e^{h(z)h(z+c)} - e^{2h(z)} \equiv t.$$

Since $e^{h(z)h(z+c)} \neq 0$, we easily get $e^{2h(z)} \neq -t$, and obviously $e^{2h(z)} \neq 0, \infty$. Then by Picard Theorem, we get $e^{2h(z)} \equiv C_1$; then $h \equiv C_2$, where C_1 and C_2 are two constants, a contradiction.

Therefore, we get $f^n \equiv (\Delta_c f)^n$. Then there exists a constant $t \in \mathbb{C}$ such that $\Delta_c f \equiv tf(z)$.

This completed the proof of Theorem 1.

Acknowledgments

Thanks to the reviewers and editor for valuable comments.

References

- [1] Chen BQ, Chen ZX. Meromorphic function sharing two sets with its difference operator. Bull Malays Math Sci Soc 2012; 36: 765-774.
- [2] Hayman WK. Meromorphic Functions. Oxford, UK: Clarendon Press, 1964.
- [3] Lahiri I. Weighted sharing and uniqueness of meromorphic functions. Nagoya Math J 2001; 161: 193-206.
- [4] Lahiri I, Banerjee A. Weighted sharing two sets. Kyungpook Math J 2006; 46: 79-87.
- [5] Li P, Yang CC. Some further results on the unique range sets of meromorphic functions. Kodai Math J 1995; 161: 437-450.
- [6] Yang CC, Yi HX. Value Distribution Theory. Beijing, China: Science Press, 2003.
- [7] Yi HX. Unicity theorems for entire functions. Kodai Math J 1994; 17: 133-141.
- [8] Yi HX, Yang LZ. Meromorphic functions that share two sets. Kodai Math J 1997; 20: 127-134.
- [9] Zhang J. Value distribution and shared sets of differences of meromorphic functions. J Math Anal Appl 2010; 367: 401-408.